
.654
RUDDERHEAD PLATE
ALUMINUM, 1/4", 9 7/8 X 12 3/4
KJK 3/8/05

2.000

.750

SHIMS AND TILLER BLOCK

.818 HOLES NOT

CRITICAL - TO HOLD

10.763

1.875

1.312

.875
2.000

2.875

5.187

7.250

5.550

8.000

.220

2.688

.750

1.375

#10 SCREW

.250R
.938R

.750

1.938

3.375

2.750
R

 WITH PIPE SPACER

R.250

 TILLER PIVOT

HOLD DOWN LINE - 1/4" SCREW

 PULLEY FOR.250

.190

PIPE SPACERS.

.220

.220

SCREWS WITH 

 FOR #10.220

.190

FOR LOWER PINTLE ONLY.

.813

 ON THE INSIDE OF EACH PLATE 

#10 SCREWS WITH COUNTERSINK

 PINTLE MOUNTING HOLES

BOLT OF CHOICE

4.000

7.500

DEPENDING ON RUDDER

 OR .375

1/4" SCREW

5.688

10.844
.220

.312

.250

R.500


